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1992

4

1(b, c, d)

2c

2a

—

—

3

—

5

—

7(aii, b)

1993

4

1(ai, bii-v)

1a, 2d

2(aiii, b-d)

—

—

3

—

—

5

7

1994

—

—

1(a-c)

—

2(a, b, d)

5

3

—

—

—

6(d, e)

1995

6

1(ci, ii)

—

1(a, b)

2

—

3

—

5a

5b

7

1996

—

2(a, b, d)

2c, 3a

3(b, ci)

—

4(ai-iii, v)

1

4b

—

7

6

1997

4

1(3aii)

3(aii, b, c)

3aii3

—

2

—

—

7a

7b

6(a, c-e)

1998

—

1(a, ci, ii)

1(b, ci,
iii, d)

1(ciii, d),
2bii

2(bi, d)

—

3(b, c)

—

4

5

6(c, d)
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1999

2

7

7d

3b

3a

10

5, 8, 10

—

1

4

6

2000

8

7(a, bi, ii)

7biii

3(a, b)

—

9

1

9c

8bi,
10(aii-iv, b)

6

11(aii-iii,
bi, iii-iv)

2001

6c, 9a

8

8(biii, c)

1b

—

4, 6b

3, 6(a, b),
7(ai, ii, iv, b)

6(a, b)

5b, 9b,
10b

5

11(a-c)

2002

2, 9(a, bii,
cii, iv),

8(b, cii,
iv)

11(aii, iii)

—

—

4, 5

1, 11

5

7(a, b)

6b

10(b, c)

2003

—

11(ai, bi,
iii)

—

10d

3b, 11bii

2ai

1, 2, 5

5, 7

8(b, c),
10(a, c, e)

6

9(a, b, cii)

2004

8

7a

2, 7ci

2, 7(b, cii,
di)

—

4, 5

1, 4, 11

—

—

10c

9(b-e)
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6.1

•

 6.1

•

 6.2

•

•

•



13

1.  −15°C  0°C
 = Q1 = mc∆T = 0.4 × 2100 × [0 − (−15)] 1

= 12 600 J 1
2. 0°C  0°C

 = Q2 = mLf = 0.4 × 3.34 × 105 1
= 133 600 J 1

3.  0°C  80°C
 = Q3 = mc∆T = 0.4 × 4200 × (80 − 0)

= 134 400 J
∴  = Q1 + Q2 + Q3

= 280 600 J 1

7.

 1.19

(a)
3 

(b)

3 

(c) 4 

1000 W  250°C
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10.  5.23 

3 m  0.4 s  1.8 s 
3 m  24 300 N

 = 1450 kg
 = 5850 kg

(a) 3 

(b) 3 

(c) 2 

(d)  ·£¥ 9 2 

11.

 5.24

 131 m 
 1 m

(a)  60 kg 
(i) 2 
(ii) 2 

(b)  1 s 
(i) 1 
(ii) 1 

(c) 1 

(d)  0.05 s 2 

(e) ·£¥ 10 2 

 5.23
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1

21.

 5.41

(a) ·£¥ 26 2 

(b) 2 

(c)
·£¥ 27 3 



1.  54  36 

2.

3.  (*) 

4.

5.  g  10 m s−2

6.

© 2004 
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1

1.

2.

3.

•

• 1

• 2

• 3

* 

M

•

•

•

1. 65 kg

(1 )

W = mg = 65 × 10 = 650 N (1A)

2. 1200 kg 800 N

20 m s–1

(3 )

= 

F × s = 
1
2

mv2 (1M)

800 s = 
1
2

 × 1200 × 202 (1M)

s = 300 m (1A)

P Q

O P

F
Q

I


